ĐÁP ÁN HÓA 12 (TN) HKI 1920
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ĐÁP ÁN

Câu 1:0,5 đ                                                                            






     3x+2y=0,5                                                                                

 56x+64y=12                                                                              

→mFe = 5,6g ; mCu = 6,4g                                              
Câu 2:0,5 đ                                                                            

 M=28x  .Khi x=2 thì M=56 (Fe)

Câu 3: 0,75 đ                                                              

 
nCO2 = nCO  = 0,25 mol







ĐLBTKL :  mOxit + mCO =mCR+ mCO2 



→ mCR= 26 g
Câu 4: 0,75 đ
mNa= 23.1,93.400/96500.1= 0,184g

H= [image: image2.png]100 = 80%

0184




Câu 5: 0,5 đ
x là số mắt xích buta-1,3 dien

y là só mắt xich acrilonnitrin
54x+53y).8,69=14y.100

→[image: image4.png]1





